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B.A. 3rd Semester (General) Examination, 2023 (CBCS)
5 3 90 Subject : Philosophy

Course : CC-1C/GE-3
Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate Sull marks.

Candidates are required to give their answers in their own words
as far as applicable.
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1. Answer any ten questions of the following:

2x10=20
sl sl @ @ ™15 ame Se e 3

(a) What is Logic according to Copi?
S LERCAE R T

(b) What is meant by the premise of an argument?
@I ST @A 6700 D @RI 2

(c) Which terms are distributed in a universal proposition?
FIANT I6CA (S (FIe 2 il W e

(d) What is existential fallacy?

SR MR 2

(e) Fill in the gaps: ‘Truth’ is related with and ‘Validity’ is related with ____
TR R R S Foper e IS @R @S ww weeifFe |

(f) ‘Only citizens are voters’. — What is the logical form of this sentence?
‘TG TR SR | — R Aoy s el Fe

(g) If "All S is P’ is false then what is the truth value of ‘No S is P’?

T S T PR 5w el = ‘@ S W PR Aa Aergen A 2@

(h) Give the converse of the proposition. — ‘Rabindranath Tagore is the writer of Gitanjali’.

TG 31 T MOl @9 | -2 a5aBa WS I |
(1) Which rule of categorical syllogism is violated in EAO-2?
EAO-2-3f8e feratars s i fRarwfS s 2319
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(J) What is empty class? Give an example.
=7 = e @2l Trrzad wie |
(k) If ‘pvq’ is false then what will be the truth value of ‘p—(q.r)’?
I ‘pvq’ et Refe 20 O ‘po (qur)-97 T B z0a?
(1) Represent ‘All non-S is P’ in the Venn diagram.
TG-S T P’ -1 (SAHa Segifere Far
(m) What is the exclusive sense of ‘or’?
W93 (or) ~97 Acam wd Jie
(n) What is called scientific explanation?
A I BIE I 2

(o) What are the different stages of a scientific enquiry?

e P f[fen w2 S

2. Answer any four questions of the following: 5x4=20

RS @ @ s1afe 2rs Tem e 3
(a) What are the differences between sentence and proposition?

3 G W/ T AdTeH F Fe

(b) What is obversion? Obvert the following:
faada F 2 frsferiie e [Rafde @i wie ¢
(i) All that glitters is not gold.
HFE DIOCE TE G <14 |
(ii) Nothing is both round and square. 1+(2+2)
@I 553 G2 AK JeIFR € 3T 7 |
(c) Explain the traditional square of opposition. How does Boole differ from it? 3+2

ofpfere Ry vorsal I T | 9T AH AT TOF TP @A ?

(d) Distinguish between deductive and inductive arguments.
SRR G SR e T Al e FE

(e) What is truth-value? If A, B, C are true statements and X, Y, Z are false statements,
determine the truth values of the following:
Ty 2 A A, B, C 79 /b9 W 92 X, Y, Z 2 a5 7@, o FafilRe wsfm
ey e frefa a2
1) [(A-X)vY]D[(X-A)Y]
(i) [(~X-~Y)>C]o[~Av~(Z>~B)] 1+(2+2)
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(f) What are the differences between scientific and unscientific explaﬁations?

e @ S g fefarofd J e
3. Answer any two of the following questions: 10x2=20
fsfRe @ @y 7o ovaz T wia ¢
(a) What is a syllogistic argument? Determine the validity of the following syllogistic
arguments by means Venn diagram technique. 2+4+4

WWWW?mmﬁﬁﬁmmmﬁahwﬁcﬁIWs

(i) Some foods that contains iron are toxic substances, for all fishes containing

mercury are foods that contain iron and all fishes containing mercury are toxic
substances.

o ez e Rare, i «travge 7 TR (e «a, AR T TR R |

(ii)) Some philosophers are mathematicians, hence some scientists are philosophers,
since all scientists are mathematicians.

(RRICA 1T wefere 2 sifeioee, e g Rl 27 aeffors, vz st et za sifftes |

(b) Use truth-tables to determine the validity of the following arguments:

TP MR FeFRe gfeahkm tawe fd w@ @
(@) (S=T)(TvS)
Sv~§
AT
(ii) If Bimal is first, then it is not the case that Amal and Kamal both ‘are first. If Amal

or Kamal is first, then Bimal is not first. Therefore, Bimal or Amal is first.
' 545

T R 24U ZW, O T T (T O G I GO AU A | I S S
S 2, Or3 et 29w 7, rogq R wie’ owe gaw 31|

(c) What is tautologous statement form? Use truth-table to determine the following statement
forms as tautologous, self contradictory or contingent:

FGHE] 6P P 2 FEPAFN AN RS Twarraef rosstey, Fosfay wm sRERTw
fa1 Ao <z :

() [p=(g=n)]=l(p>g)=>(por)] ‘

(i1) [p=[p>(q-~d)] 24444
(d) What is hypothesis? What are the criteria for acceptability of a hypothesis?  2+8
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